

BASE CONTRACT

ITEM DESCRIPTION & BID PRICE		EST QTY.*	UNIT	TOTAL
THE SUM OF: _Fifty-six thousand AND _zero (\$ 56,000.00) PER UNIT		0.1	Α	\$ <u>5,600.00</u>
THE SUM OF: _Fifteen AND _zero (\$ 15.00) PER UNIT		425	FT	\$ <u>6,375.00</u>
THE SUM OF: Four hundred AND zero (\$ 400.00) PER UNIT		2	EA	\$800.00
THE SUM OF: One thousand eight hundred AND zero (\$ 1,800.00) PER UNIT	_	2	EA	\$ <u>3,600.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: One DOL AND _zero (\$ 1.00) PER UNIT	85	CY	\$ 85.00
THE SUM OF: One DOL AND zero (\$ 1.00) PER UNIT	3,770	СУ	\$ <u>3,770.00</u>
THE SUM OF: One hundred fifty AND zero (\$ 150.00 DOL ONE OF THE SUM OF: One hundred fifty DOL ONE OF THE SUM OF: One hundred fifty DOL ONE OF THE SUM OF: ONE	10	CY	\$ <u>1,500.00</u>
THE SUM OF: Eighty DOI AND zero (\$ 80.00) PER UNIT	15	СУ	\$ <u>1,200.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Forty DOLLARS AND Zero CENTS (\$ 40.00) PER UNIT	20	сү	\$ <u>800.00</u>
THE SUM OF: Two hundred fifty AND zero (\$250.00 DOLLARS PER UNIT	10	СУ	\$ 2,500.00
THE SUM OF: Four hundred fifty AND zero (\$ 450.00 DOLLARS PER UNIT	1	EA	\$ <u>450.00</u>
THE SUM OF: Eight hundred DOLLARS AND Zero CENTS (\$ 800.00) PER UNIT	3	EA	\$ <u>2,400.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 150: ORDINARY BORROW THE SUM OF:	250	СУ	\$ <u>3,750.00</u>
ITEM 151: GRAVEL BORROW THE SUM OF: Fifteen DOLLARS AND Zero CENTS (\$ 15.00) PER UNIT	2,450	CY	\$ <u>36,750.00</u>
THE SUM OF: One hundred twenty-five AND Zero (\$ 125.00 DERIVATION OF THE SUM OF: One hundred twenty-five DOLLARS CENTS	10	СУ	\$ <u>1,250.00</u>
ITEM 156: CRUSHED STONE THE SUM OF: Seventy-fve DOLLARS AND Zero CENTS (\$ 75.00) PER UNIT	10	TON	\$ 750.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Ten DOLLARS AND ZETO (\$ 10.00 DEFINITION OF THE SUBGRADE AREA DOLLARS DOLLARS PER UNIT	8,330	SY	\$ <u>83,300.00</u>
THE SUM OF:	4	EA	\$ <u>20,000.00</u>
THE SUM OF: Five thousand DOLLARS AND CENTS (\$ 5,000.00) PER UNIT	1	EA	\$ 5,000.00
THE SUM OF: Two hundred twenty AND Zero (\$ 220.00 DER UNIT	17	EA	\$ <u>3,740.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Five hundred AND zero (\$ 500.00 DER UNIT	1	EA	\$ <u>500.00</u>
THE SUM OF: Five hundred AND zero (\$ 500.00 DER UNIT	1	EA	\$ <u>500.00</u>
THE SUM OF: Two hundred twenty AND Zero (\$ 220.00 DOLLARS OCENTS	3	EA	\$ <u>660.00</u>
THE SUM OF: Four hundred DOLLARS AND Zero CENTS (\$ 400.00 PER UNIT	6	EA	\$ <u>2,400.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Fifty DOLLARS AND Zero CENTS (\$50.00 PER UNIT	3	EA	\$ <u>150.00</u>
THE SUM OF: One hundred fifty AND zero (\$	1	СУ	\$ <u>150.00</u>
THE SUM OF: Ten DOLLARS AND ZEFO (\$ 10.00 DEFINITE DOLLARS OUT OF THE SUM OF: DOLLARS OUT OF THE SUM OF: DOLLARS OUT OUT OF THE SUM OF: DOLLARS OUT	300	FT	\$_3,000.00
THE SUM OF:	5	SF	\$ <u>1,000.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: One hundred AND zero (\$ 100.00) PER UNIT	65	FT	\$ <u>6,500.00</u>
THE SUM OF: One hundred AND zero (\$ 100.00) PER UNIT	25	FT	\$ <u>2,500.00</u>
THE SUM OF: One hundred sixty AND Zero (\$ 160.00) PER UNIT	5	EA	\$ 800.00
THE SUM OF: One hundred sixty AND zero (\$ 160.00) PER UNIT	1	EA	\$ <u>160.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Twenty AND Zero (\$ 20.00 DENSE GRADED CRUSHED STONE FOR SUB-BASE DOLLARS DOLLARS PER UNIT	250	СҮ	\$ <u>5,000.00</u>
ITEM 415.3: PAVEMENT MICRO MILLING THE SUM OF:	1,400	SY	\$ 14,000.00
THE SUM OF: Sixty-five DOLLARS AND zero CENTS (\$ 65.00 PER UNIT	35	SY	\$ <u>2,275.00</u>
THE SUM OF: Zero DOLLARS AND one CENTS (\$ 0.01) PER UNIT	6,200	LB	\$ <u>62.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Ten DOLLARS AND ZEFO CENTS	25	MGL	\$ <u>250.00</u>
(\$ 10.00) PER UNIT			
THE SUM OF: One hundred fifteen One hundred fifteen CENTS (\$ 115.00 DOLLARS PER UNIT	360	TON	\$ <u>41,400.00</u>
THE SUM OF: One hundred five One hundred five ONE DOLLARS AND zero (\$ 105.00) PER UNIT	180	TON	\$ <u>18,900.00</u>
ITEM 450.32: SUPERPAVE INTERMEDIATE COURSE – 19.0 (SIC – 19.0) THE SUM OF: One hundred five DOLLARS AND zero CENTS (\$ 105.00) PER UNIT	410	TON	\$ <u>43,050.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
TEM 450.52: SUPERPAVE LEVELING COURSE – 9.5 (SLC – 9.5) THE SUM OF:	20	TON	\$ <u>4,000.00</u>
THE SUM OF: One hundred fifty AND zero (\$ 150.00 DOLLARS PER UNIT	120	TON	\$ <u>18,000.00</u>
THE SUM OF: Zero DOLLARS AND One CENTS (\$ 0.01) PER UNIT	545	GAL	\$ <u>5.45</u>
THE SUM OF: Zero DOLLARS AND SIXTY CENTS (\$ 0.60) PER UNIT	3,125	FT	\$ <u>1,875.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Two hundred fifty AND zero (\$ 250.00 DOLLARS OCENTS	1	TON	\$ 250.00
THE SUM OF: One hundred forty AND ZERO (\$ 140.00 DOLLARS OPER UNIT	15	TON	\$ 2,100.00
THE SUM OF: Two DOLLARS AND ZEFO CENTS (\$ 2.00 PER UNIT	200	FT	\$ <u>400.00</u>
ITEM 506: GRANITE CURB TYPE VB - STRAIGHT THE SUM OF: Forty-one DOLLARS AND Zero CENTS (\$ 41.00) PER UNIT	5,430	FT	\$ <u>222,630.0</u> 0



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Forty-five DOLLARS AND Zero CENTS (\$ 45.00 PER UNIT	340	FT	\$ <u>15,300.00</u>
THE SUM OF: Sixty-five DOLLARS AND Zero CENTS (\$ 65.00) PER UNIT	12	FT	\$ <u>780.00</u>
ITEM 509: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS – STRAIGHT THE SUM OF:	560	FT	\$ 28,000.00
THE SUM OF: Fifty DOLLARS AND Zero CENTS (\$ 50.00 PER UNIT	330	FT	\$ <u>16,500.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Five hundred DOLLARS AND Zero CENTS (\$ 500.00 PER UNIT	11	EA	\$ <u>5,500.00</u>
THE SUM OF: Two hundred DOLLARS AND zero CENTS (\$ 200.00) PER UNIT	80	EA	\$ <u>16,000.00</u>
THE SUM OF: Twenty-five DOLLARS AND zero CENTS (\$ 25.00) PER UNIT	3,070	FT	\$ <u>76,750.00</u>
THE SUM OF: Seventy-five DOLLARS AND Zero CENTS (\$ 75.00 PER UNIT	9	EA	\$_675.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Three DOLLARS AND Fifty CENTS (\$ 3.50 PER UNIT	1,060	FT	\$ <u>3,710.00</u>
THE SUM OF: Three DOLLARS AND Fifty CENTS (\$ 3.50) PER UNIT	200	FT	\$ 700.00
THE SUM OF: Three hundred DOLLARS AND zero CENTS (\$ 300.00) PER UNIT	40	FT	\$ <u>12,000.00</u>
THE SUM OF: Two hundred DOLLARS AND Zero CENTS (\$ 200.00) PER UNIT	11	EA	\$ <u>2,200.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Seventy-two AND zero (\$ 72.00) PER UNIT	4,140	SY	\$ <u>298,080.0</u> 0
THE SUM OF: Eighty-six AND zero (\$86.00) PER UNIT	1,220	SY	\$ <u>104,920.0</u> 0
THE SUM OF: One hundred twenty AND zero (\$ 120.00) PER UNIT	330	SY	\$ 39,600.00
THE SUM OF: Two hundred fifty AND zero (\$ 250.00) PER UNIT	114	TON	\$28,500.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Two hundred fifty DOLLARS AND Zero CENTS (\$ 250.00 PER UNIT	9	SY	\$ <u>2,250.00</u>
THE SUM OF: One hundred seventy-five AND zero (\$ 175.00 DECOMPTION OF COMPTION OF COMPT	150	SY	\$ <u>26,250.00</u>
THE SUM OF: Two hundred	2	EA	\$_400.00_
ITEM 751: LOAM BORROW THE SUM OF:	630	СУ	\$ <u>30,240.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: One DOLLARS AND ninety (\$ 1.90 DER UNIT	5,070	SY	\$ <u>9,633.00</u>
THE SUM OF: Five DOLLARS AND fifty CENTS (\$ 5.50) PER UNIT	860	FT	\$ <u>4,730.00</u>
THE SUM OF: Eighty DOLLARS AND ZEFO CENTS (\$ 80.00) PER UNIT	15	СУ	\$ <u>1,200.00</u>
ITEM 771: PLANTING BED RESTORATION THE SUM OF:	125	SF	\$ <u>1,250.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Thirty DOLLARS AND Zero CENTS (\$ 30.00 PER UNIT	6	EA	\$ <u>180.00</u>
THE SUM OF: Thirty DOLLARS AND Zero CENTS (\$ 30.00 PER UNIT	3	EA	\$ <u>90.00</u>
THE SUM OF: Twenty-two AND ZEFO (\$ 22.00 DOLLARS OF: TWENTY OF: TWENTY DOLLARS OF: TWENTY OF: TWENTY DOLLARS OF: TWENTY DOLLARS OF: TWENTY DOLLARS OF: TWENTY O	8	EA	\$ <u>176.00</u>
ITEM 796.409: BLUE OAT GRASS 1 GALLON THE SUM OF:	4	EA	\$ 96.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Sixteen DOLLARS AND zero (\$ 16.00 DER UNIT	25	EA	\$ <u>400.00</u>
THE SUM OF: Forty DOLLARS AND Zero CENTS (\$ 40.00 DEFINITION OF THE SUM OF	160	FT	\$ <u>6,400.00</u>
ITEM 811.22: ELECTRIC HANDHOLE – SD2.022 THE SUM OF: One thousand DOLLARS AND zero CENTS (\$ 1,000.00) PER UNIT	3	EA	\$ <u>3,000.00</u>
THE SUM OF: Sixteen thousand OCENTS (\$ 16,000.00 DOLLARS	1	LS	\$ <u>16,000.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 832: WARNING-REGULATORY AND ROUTE MARKER – ALUM. PANEL (TYPE A) THE SUM OF: Ten DOLLARS AND _zero CENTS (\$ 10.00) PER UNIT	230	SF	\$ <u>2,300.00</u>
ITEM 847.1: SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY - STEEL THE SUM OF: One hundred fifteen DOLLARS AND Zero (\$ 115.00) PER UNIT	40	EA	\$ <u>4,600.00</u>
ITEM 848.1: SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES - STEEL THE SUM OF: Two hundred thirty DOLLARS AND Zero CENTS (\$	2	EA	\$ <u>460.00</u>
THE SUM OF: Twelve DOLLARS AND zero CENTS (\$ 12.00) PER UNIT	650	SF	\$ <u>7,800.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Twenty-five DOLLARS AND Zero CENTS (\$ _25.00) PER UNIT	100	FT	\$ <u>2,500.00</u>
THE SUM OF: One hundred AND zero (\$	4	EA	\$ 400.00
THE SUM OF: One hundred twenty-five DOLLARS AND Zero CENTS (\$ 125.00) PER UNIT	8	EA	\$_1,000.00
ITEM 856: ARROW BOARD THE SUM OF:	140	DAY	\$ <u>1,120.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Twenty AND zero (\$ 20.00 DOLLARS PER UNIT	140	DAY	\$2,800.00
THE SUM OF: Zero DOLLARS AND twenty CENTS (\$ 0.20) PER UNIT	8,890	DAY	\$ <u>1,778.00</u>
ITEM 859.1: REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS THE SUM OF: Five DOLLARS AND zero CENTS (\$ 5.00) PER UNIT	640	DAY	\$ <u>3,200.00</u>
ITEM 864.04: PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC) THE SUM OF: Seven DOLLARS AND zero CENTS (\$ 7.00) PER UNIT	170	SF	\$ <u>1,190.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Four DOLLARS AND fifty (\$ 4.50 PER UNIT	170	SF	\$ <u>765.00</u>
THE SUM OF: Fifty DOLLARS AND ZETO CENTS (\$ 50.00) PER UNIT	42	EΑ	\$ <u>2,100.00</u>
THE SUM OF: Zero DOLLARS AND ninety-five CENTS (\$ 0.95	2,400	FT	\$ 2,280.00
THE SUM OF: Three DOLLARS AND Zero CENTS (\$ 3.00 PER UNIT	470	FT	\$ <u>1,410.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Zero DOLLARS AND ninety-five CENTS (\$ 0.95 PER UNIT	3,050	FT	\$ <u>2,897.50</u>
THE SUM OF: Three DOLLARS AND Zero CENTS (\$ 3.00 PER UNIT	150	FT	\$ <u>450.00</u>
THE SUM OF: Zero DOLLARS ANDeighty CENTS (\$ 0.80) PER UNIT	2,400	FT	\$ <u>1,920.00</u>
THE SUM OF: Three DOLLARS AND fifty CENTS (\$ 3.50 PER UNIT	470	FT	\$ <u>1,645.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Zero DOLLARS AND Eighty CENTS (\$ 0.80 PER UNIT	3,050	FT	\$ <u>2,440.00</u>
ITEM 869.12: 12 INCH REFLECTORIZED YELLOW LINE (EPOXY) THE SUM OF:	150	FT	\$ <u>525.00</u>
THE SUM OF: Eighty-five DOLLARS AND Zero CENTS (\$ 85.00) PER UNIT	8	EA	\$ <u>680.00</u>
THE SUM OF: Eighty-five DOLLARS AND ZERO (\$ 85.00 PER UNIT	22	EA	\$ <u>1,870.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 874.4: TRAFFIC SIGN REMOVED AND STACKED			
THE SUM OF: Twenty-five DOLLARS	1	EA	\$ <u>25.00</u>
AND ZERO CENTS			
(\$ <u>25.00</u>) PER UNIT			
ITEM 874.8: TRAFFIC SIGN REMOVED AND DISCARDED			
THE SUM OF: Twenty-five DOLLARS	8	EA	\$ 200.00
AND zero CENTS			7
(\$ <u>25.00</u>) PER UNIT			
ITEM 999: POLICE SERVICES			
THE SUM OF: Seventy Thousand DOLLARS	1	LS	\$ 70,000
AND <u>Zero</u> CENTS			\ \
(\$) PER UNIT			
TOTAL BID – BASE CONTRACT:			
One million four hundred forty-six thousand two			DOLLARS
AND ninety-five			CENTS
(\$ 1,446,002.95)
Amount in Figures			_ .



ADD-ALTERNATE #1

ITEM 120.1: UNCLASSIFIED EXCAVATION			
THE SUM OF: One DOLLARS AND Zero CENTS (\$ 1.00) PER UNIT	411	СУ	\$ <u>411.00</u>
(\$ 1.00) PER UNIT			
THE SUM OF: Fifteen DOLLARS AND Zero CENTS (\$ 15.00) PER UNIT	274	СУ	\$ <u>4,110.00</u>
THE SUM OF:			
Fourteen DOLLARS AND ZERO CENTS	1,061	SY	\$ <u>14,854.00</u>
(\$ <u>14.00</u>) PER UNIT			
ITEM 381.3: SERVICE BOX ADJUSTED			
THE SUM OF: One hundred sixty AND zero CENTS	14	EA	\$ <u>2,240.00</u>
(\$ <u>160.00</u>) PER UNIT			



ITEM 451: HMA FOR PATCHING			
THE SUM OF: One hundred fifty DOLLARS			s 4,200.00
AND zero CENTS	28	TON	\$ 4,200.00
(\$ <u>150.00</u>) PER UNIT			
ITEM 506: GRANITE CURB TYPE VB - STRAIGHT			
THE SUM OF: Forty-one DOLLARS	1,443	FT	s 59,163.00
AND ZERO CENTS	1,770	, ,	· · · · · · · · · · · · · · · · · · ·
(\$ 41.00) PER UNIT			
ITEM 506.1: GRANITE CURB TYPE VB - CURVED			
THE SUM OF: Fifty-three DOLLARS	34	i FT	s 1,802.00
AND ZETO CENTS	34	''	7
(\$ <u>53.00</u>) PER UNIT			
ITEM 509: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS — STRAIGHT			
THE SUM OF: Fifty DOLLARS	127	FT	\$ 6,350.00
AND zero CENTS			
(\$ _50.00) PER UNIT			



ITEM 509.1: GRANITE TRANSITION CURB FOR PEDESTRIAN RAMPS – CURVED THE SUM OF: Fifty DOLLARS AND Zero CENTS (\$ 50.00) PER UNIT	31	FT	\$ <u>1,550.00</u>
THE SUM OF: Five hundred AND zero (\$ 500.00 DERIVATION OF THE SUM OF: OUT	4	EA	\$2,000.00
THE SUM OF: Two hundred fifty DOLLARS AND Zero CENTS (\$ 250.00 PER UNIT	18	EA	\$ 4,500.00
THE SUM OF: Twenty-five AND zero (\$ 25.00 DOLLARS PER UNIT	869	FT	\$ <u>21,725.00</u>



ITEM 582: CURB CORNER REMOVED AND RESET				
THE SUM OF: Seventy-five AND zero (\$ 75.00) PER UNIT	_ DOLLARS	6	EA	\$ <u>450.00</u>
ITEM 594: CURB REMOVED AND DISCARDED				
THE SUM OF: Four AND Zero	_ DOLLARS	217	FT	\$ 868.00
(\$ <u>4.00</u>) PER UNIT				
THE SUM OF: Ninety AND zero (\$ 90.00) PER UNIT	DOLLARS CENTS	725	SY	\$ <u>65,250.00</u>
THE SUM OF: One hundred twenty-five AND zero (\$ 125.00) PER UNIT	DOLLARS CENTS	11	SY	\$ 1,375.00
THE SUM OF: Two hundred fifty AND zero (\$ 250.00) PER UNIT	DOLLARS	16	TON	\$_4,000.00



ITEM 751: LOAM BORROW			
THE SUM OF:	55	СУ	\$ 2,640.00
THE SUM OF:	497	SY	\$ <u>994.00</u>
ITEM 847.1: SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY – STEEL THE SUM OF: One hundred fifteen DOLLARS AND Zero (\$ 115.00) PER UNIT	3	EA	\$ <u>345.00</u>
THE SUM OF: Eighty-five DOLLARS AND zero CENTS (\$ 85.00) PER UNIT	9	EA	\$ <u>765.00</u>



ITEM 999: POLICE SERVICES				
THE SUM OF:				
DOLLARS				
AND <u>Zero</u> CENTS	1	LS	\$ <u>9,000</u>	
(\$) PER UNIT				
TOTAL BID – ADD ALTERNATE #1:				
Two hundred eight thousand five hundred ninety-two			DOLLARS	
AND zero			_CENTS	
(\$ <u>208,592.00</u>)	
Amount in Figures				



ATTACHMENT D **BID PRICING SHEET**

Bid form must be completed in ink or by typewriter. The bid price for each item on the form shall be stated in figures. Discrepancies between indicated sum of any column(s) and the correct sum of any column(s) will be resolved in favor of the correct sum. Please Attach Additional Sheets if necessary.

BASE BID PRICE

The Bidder submits this bid proposal to perform all of the work (including labor and materials) as described in the solicitation for this Base Bid Price (including the costs for all Allowances, Incidentals, Bonds, and Addenda):

Total Bid in figures

\$1,446,002.95

Total Bid in words

\$ One million four hundred forty-Six

thousand two dollars and ninety-fire cents

ADD ALTERNATE #1 PRICE

Total Bid in figures

\$ 208,592.00

Total Bid in words

STWO hundred eight thousand

Five hundred ninety-two obilars and zero Cents

Signature of individual submitting bid or proposal

P.J. beating Company
Printed Name of company submitting bid or proposal

busodhouse@ piteating cor Business Email